#### **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MIDDLE SCHOOL INTRAMURAL ACTIVITIES FOR THE 2020-21 SCHOOL YEAR ONLY, \$31.32 PER HOUR (20-21): (10-1500-xxxx-1341-000-0)

<u>Jefferson Middle School</u> Lenhardt, Kyle

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 4 THROUGH FEBRUARY 17, 2021, \$31.32 PER HOUR, 18 HOURS FOR A TOTAL OF \$563.76 EACH: (10-1250-0000-1341-531-1)

# Mcquality, Dixie

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 9 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR, 21 HOURS FOR A TOTAL OF \$657.72: (10-1250-0000-1341-531-1)

## Coughlin, Karen

IV APPROVAL OF THE FOLLOWING CERTIFICATED RECOMMEND **PERSONNEL** FOR BLACK HAWK **ELEMENTARY SCHOOL** INTERVENTION/TUTORING ACTIVITIES FEBRUARY **THROUGH** 9 FEBRUARY 18, 2021, \$31.32 PER HOUR, 21 HOURS FOR A TOTAL OF \$657.72: (10-1250-0000-1341-531-1)

#### Marvel, Marsha

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL TUTORING ACTIVITIES FEBRUARY 9 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Coughlin, Karen	7.50 hours	\$234.90
<b>O</b> ,		
Dunn, Deborah	6.50 hours	203.58
Jankauski, Abigayle	8.00 hours	250.56
Marvel, Marsha	8.00 hours	250.56
Miller, Evan	7.00 hours	219.24
Peden, Ashley	8.00 hours	250.56
Roher, Kortney	7.00 hours	219.24
Small, Laura	7.75 hours	242.73

VI OF THE RECOMMEND APPROVAL FOLLOWING CERTIFICATED FOR **BUTLER ELEMENTARY PERSONNEL SCHOOL** INTERVENTION/TUTORING **ACTIVITIES FEBRUARY** 5 **THROUGH** FEBRUARY 18, 2021, \$31.32 PER HOUR, 22.25 HOURS FOR A TOTAL OF \$696.87: (10-1250-0000-1341-531-1)

Killebrew, Sara

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL PROFESSIONAL DEVELOPMENT ACTIVITIES FEBRUARY 18, 2021, \$31.32 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$39.15 EACH: (10-2210-0000-1341-531-1)

Drennan, Emily Joyner, Abbie
Etchill, Jamie Komnick, John
Flesner, Ida Taylor, Joelyn
Grieme, Nathan Uptmor, Jena
Holler, Melinda Williams, Alyson

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 16, 2021, \$31.32 PER HOUR, 1 HOUR FOR A TOTAL OF \$31.32 EACH: (10-2210-0000-1341-531-1)

Brillhart, Sarah

Punke, Lindsay

Moore, Lori

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 12, 2021, \$31.32 PER HOUR, 1 HOUR FOR A TOTAL OF \$31.32 EACH: (10-2210-0000-1341-531-1)

Baldin, Jennifer

Kahl, Lindsay

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL TUTORING ACTIVITIES JANUARY 28 THROUGH FEBRUARY 11, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Lauber, Matthew	6.00 hours	\$187.92
Lewis, Jill	4.00 hours	125.28
Ogden, Jennifer	4.00 hours	125.28
Weitekamp, Crysta	20.00 hours	626.40
Weller, Anne	16.00 hours	501.12

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 17, 2021, \$31.32 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$46.98 EACH: (10-2210-0000-1341-531-1)

Kahl, Lindsay Moore, Lori Zoll, Alexandra

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 11, 2021, \$31.32 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$46.98 EACH: (10-2210-0000-1341-531-1)

Jackson, Beverly

Peterman, Sarah

Moore, Lori

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 5 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR, 43 HOURS FOR A TOTAL OF \$1,346.76: (10-1250-0000-1341-531-1)

Kelly, Karen

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 5 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR, 23 HOURS FOR A TOTAL OF \$720.36: (10-1250-0000-1341-531-1)

Dobron, Mary

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL TUTORING ACTIVITIES FEBRUARY 16 THROUGH FEBRUARY 19, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Cruthis, Douglas	1.00 hours	\$31.32	
Davis, Tatiana	3.00 hours	93.96	
Hoffman, Julie	4.00 hours	125.28	

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL TUTORING ACTIVITIES FEBRUARY 10 THORUGH FEBRUARY 12, 2021, \$31.32 PER HOUR, 3 HOURS FOR A TOTAL OF \$93.96: (10-1250-0000-1341-531-1)

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 22, 2021, \$31.32 PER HOUR, 2 HOURS FOR A TOTAL OF \$62.64 EACH: (10-2210-0000-1341-531-1)

Biggs, Brian Franklin, Sara
Cruthis, Douglas Gephart, Suzanne
Flanagan, Heather

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL MATH BACKWARDS PLANNING ACTIVITIES FEBRUARY 9, 2021, \$31.32 PER HOUR: (10-2210-0000-1341-531-1)

Boarman, Claire	1.25 hours	\$39.15
Davis, Tatiana	2.00 hours	62.64
Gordon, Beth	1.00 hours	31.32
Goss-Rodgers, Gina	1.25 hours	39.15
Horstman, Laura	2.00 hours	62.64

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL TUTORING ACTIVITIES FEBRUARY 8 THROUGH FEBRUARY 12, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Constant, Ashley	1.50 hours	\$46.98	
Cruthis, Douglas	1.00 hours	31.32	
Furkin, Ruth	1.00 hours	31.32	
Hoffman, Julie	4.75 hours	148.77	

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 10, 2021, \$31.32 PER HOUR, 2 HOURS FOR A TOTAL OF \$62.64 EACH: (10-2210-0000-1341-531-1)

Constant, Ashley Saunders Hunter, Eva

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL TUTORING ACTIVITIES FEBRUARY 2 THROUGH FEBRUARY 5, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Beebe, Lisa	3.25 hours	\$101.79
Davis, Tatiana	1.00 hours	31.32
Hoffman, Julie	3.50 hours	109.62
Jimerson, Angela	2.00 hours	62.64

OF XXII RECOMMEND APPROVAL THE FOLLOWING **CERTIFICATED** HAZEL PERSONNEL FOR DELL **ELEMENTARY SCHOOL** INTERVENTION/TUTORING ACTIVITIES **FEBRUARY** 5 **THROUGH** FEBRUARY 18, 2021, \$31.32 PER HOUR, 44 HOURS FOR A TOTAL OF \$1,378.08: (10-1250-0000-1341-531-1)

Watts, Cheryl

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW TUTORING ACTIVITIES FEBRUARY 8 THROUGH FEBRUARY 17, 2021, \$31.32 PER HOUR, 3 HOURS FOR A TOTAL OF \$93.96: (10-1250-0000-1341-531-1)

Oseland, Mary

IXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW INTERVENTION/TUTORING ACTIVITIES FEBRUARY 5 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR, 10 HOURS FOR A TOTAL OF \$313.20: (10-1250-0000-1341-531-1)

Rupcich, Mary Ann

XXV RECOMMEND APPROVAL OF THE FOLLOWING **CERTIFICATED** PERSONNEL FOR SOUTHERN **VIEW ELEMENTARY** SCHOOL INTERVENTION/TUTORING **ACTIVITIES** FEBRUARY **THROUGH** FEBRUARY 18, 2021, \$31.32 PER HOUR, 24 HOURS FOR A TOTAL OF \$751.68: (10-1250-0000-1341-531-1)

Krofchick, Jeanette

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION YEAR 1 NEW TEACHER FORUM FEBRUARY 11, 2021, \$31.32 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$46.98 EACH: (10-2210-0000-1341-564-1)

Boarman, Claire
Bryant, Sydney
Carman, Jake
Carver, John
Cook, Hailey
Erickson, Carlie
Lowy, Abraham
Miller, Evan
Piper, Riley
Ramsby, Anita
Redpath, Sara
Roher, Kortney

Faires, Austin Schoppenhorst, Debbie

Ferry, Audra
Simon, Michael
Finney, Riley
Strauch, Allyson
Goldstein, Andrew
Stults, Alyssa
Graham, Brianna
Lounsberry, Katherine
Williams, Aleesa

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 9 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR, 21.5 HOURS FOR A TOTAL OF \$673.38: (10-1250-0000-1341-531-1)

Jackson, Tamara

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL TUTORING ACTIVITIES JANUARY 27 THROUGH FEBRUARY 17, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Dold, Jena 3.00 hours \$93.96 Thompson, Jessica 2.00 hours 62.64

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 5 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR, 16.5 HOURS FOR A TOTAL OF \$516.78: (10-1250-0000-1341-531-1)

Hurley, Kimberly

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL TUTORING ACTIVITIES JANUARY 26 THROUGH FEBRUARY 11, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Dempsey, Tracy	8.00 hours	\$250.56
Dirksen, Abbey	8.00 hours	250.56
French, Jasmine	4.00 hours	125.28
Graves, Kristina	4.00 hours	125.28
Kinkade, Michael	4.00 hours	125.28
Laub, Jill	10.00 hours	313.20
Leininger, Brad	4.00 hours	125.28
Lopian, Jerry	8.00 hours	250.56
Walls, Peter	13.00 hours	407.16

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 2, 2021, \$31.32 PER HOUR, 2 HOURS FOR A TOTAL OF \$62.64 EACH: (10-2210-0000-1341-531-1)

Bryant, Sydney Harris, Sherry Johnson, Marissa Schoedel, William XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL TUTORING ACTIVITIES FEBRUARY 8 THROUGH FEBRUARY 23, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Cassens, Glenda	4.00 hours	\$125.28
Mccarthy, Caitlin	0.75 hours	23.49
Schaefer, Bridget	2.75 hours	86.13
Schurman, Cecelia	2.00 hours	62.64
Scott, Brandy	1.00 hours	31.32

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES JANUARY 28, 2021, \$31.32 PER HOUR: (10-2210-0000-1341-531-1)

Alexander, Julie	1.00 hours	\$31.32
Bruce, Kelley	1.00 hours	31.32
Harris, Sherry	1.00 hours	31.32
Jeffers, Kelley	1.00 hours	31.32
Johnson, Deanna	1.00 hours	31.32
Kozar, Shari	2.00 hours	62.64
Norton, Heather	2.00 hours	62.64
Swanberg, Michele	2.00 hours	62.64

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 9 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR, 21.5 HOURS FOR A TOTAL OF \$673.38: (10-1250-0000-1341-531-1)

Black, Charlotte

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES PSYCHOLOGIST OVERLOAD ACTIVITIES JANUARY 4 THROUGH JANUARY 29, 2021, \$44.78 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$67.17: (10-2210-6220-1342-000-0)

Geosling, Raymond

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES FEBRUARY 5 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR, 30 HOURS FOR A TOTAL OF \$939.60: (10-3700-0000-1243-531-1)

Lamsargis, Kathy

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SERVICE CENTER NON-PUBLIC INTERVENTION ACTIVITIES FEBRUARY 5 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR: (10-3700-0000-1243-499-0)

Atalla, Julie	3.00 hours	\$93.96
Butler, Tari	3.75 hours	117.45
Maddox, Angela	2.50 hours	78.30
Meyer, Ellen	2.00 hours	62.64
Monke, Elizabeth	35.25 hours	1,104.03
Wetter, Shannon	14.75 hours	461.97

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES 2020-2021 MEDICAID BILLING ACTIVITIES JANUARY 1 THROUGH FEBRUARY 05, 2021, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Bergschneider, Kathryn	4.00 hours	\$43.54 per hour	\$174.16
Cassidy, Barbara	3.00 hours	\$66.12 per hour	\$198.36
Clark, Abigail	3.00 hours	\$38.56 per hour	\$115.68
Clark, Michelle	2.00 hours	\$63.08 per hour	\$126.16
Corley, Elizabeth	4.00 hours	\$52.25 per hour	\$209.00
Covey, Diane	3.00 hours	\$57.22 per hour	\$171.66
Deatherage, Debra	6.25 hours	\$56.01 per hour	\$350.06
Dunn, Cara	3.00 hours	\$38.56 per hour	\$115.68
Farley, Nicole	5.00 hours	\$42.30 per hour	\$211.50
Febus, Ashley	1.50 hours	\$54.73 per hour	\$82.10
Fenstermacher, Lori	3.00 hours	\$65.19 per hour	\$195.57
Foster, Jennifer	3.00 hours	\$46.02 per hour	\$138.06
Giacomini-Fay, Lisa	5.00 hours	\$58.45 per hour	\$292.25
Groesch, Erica	2.75 hours	\$65.19 per hour	\$179.27
Gruenenfelder, Tara	2.75 hours	\$61.43 per hour	\$168.93
Hummel, Emily	4.00 hours	\$54.73 per hour	\$218.92
Hussein, Samira	3.00 hours	\$48.51 per hour	\$145.53
Jaderholm, Annette	3.00 hours	\$66.12 per hour	\$198.36
Kaufmann, Sarah	4.00 hours	\$51.00 per hour	\$204.00
Kim, Whitney	4.00 hours	\$66.12 per hour	\$264.48
Kinkade, Taylor	4.00 hours	\$36.08 per hour	\$144.32
Lanter, Lindsey	5.50 hours	\$44.79 per hour	\$246.35
Locher, Debra	1.50 hours	\$66.12 per hour	\$99.18
Marcum, Stacie	3.50 hours	\$49.30 per hour	\$172.55
Mcdaniel-Norton, Stacey	4.00 hours	\$64.25 per hour	\$257.00
Moore, Carolyn	3.00 hours	\$53.49 per hour	\$160.47

### Student Support Services 2020-2021 Medicaid Billing Activities, cont.

Mowen, Lindsay	5.00 hours	\$55.98 per hour	\$279.90
Naumovich, Amanda	4.00 hours	\$55.98 per hour	\$223.92
Ohl, Stephanie	3.00 hours	\$42.30 per hour	\$126.90
Parker, Grayce	3.00 hours	\$43.54 per hour	\$130.62
Reitz, Laura	4.50 hours	\$53.49 per hour	\$240.71
Roe, Katie	3.00 hours	\$57.22 per hour	\$171.66
Rouland, Jill	1.00 hours	\$52.25 per hour	\$52.25
Swierkosz, Beth	1.50 hours	\$63.31 per hour	\$94.97
Tillman, Renee	2.50 hours	\$36.08 per hour	\$90.20
Upchurch, Taylor	3.00 hours	\$47.27 per hour	\$141.81
Vandermaiden, Kaitlyn	3.00 hours	\$36.08 per hour	\$108.24
Watt-Brennan, Janine	2.00 hours	\$47.27 per hour	\$94.54

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION YEAR 2 FORUM FEBRUARY 4, 2021, \$31.32 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$46.98 EACH: (10-2210-0000-1341-564-1)

Churchill, Emily	Kent, Michelle
Ciotti, Jennifer	Krummrich, Patricia
Ciotti, Ryan	Morrison, Alexis
Cullick, Madelyn	Rogers, Chenoa
Elkin, Victoria	Sheets, Glen
Erickson, Carlie	Villanueva, Angelica
Ison, Curtis	Welsh, Peter

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES JANUARY 19 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR, 19.75 HOURS FOR A TOTAL OF \$618.57: (10-3700-0000-1243-531-1)

Schrenk, Nancy

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I APTT ACTIVITIES FEBRUARY 22, 2021, \$31.32 PER HOUR: (10-2210-0000-1341-531-1)

Clark, Kara	1.00 hours	\$31.32
Dold, Jena	1.00 hours	31.32
Greenfield, Darrin	1.00 hours	31.32
Hardy, Angela	1.00 hours	31.32
Langen, Natasha	1.00 hours	31.32

### <u>Title I APTT Activities February 22, 2021, \$31.32 per hour, cont.</u>

Mitchell, Shanna	1.00 hours	31.32
Murphy, Melissa	1.00 hours	31.32
Niemeyer, Cara	1.00 hours	31.32
Parkinson, Vanessa	1.00 hours	31.32
Ramsby, Anita	0.50 hours	15.66
Roark, Heather	1.00 hours	31.32
Short, Erin	1.00 hours	31.32
Thompson, Jessica	1.00 hours	31.32

XLII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES JANUARY 12 THROUGH JANUARY 28, 2021, \$31.32 PER HOUR, 27.5 HOURS FOR A TOTAL OF \$861.30: (10-1250-0000-1341-531-1)

Mcquality, Dixie

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CENTRAL IL SEL COMMUNITY OF PRACTICE ACTIVITIES FEBRUARY 22, 2021, \$31.32 PER HOUR: (10-2210-0000-1341-564-1)

Sholtis, Kelly	1.00 hours	\$31.32
Teeter Sara	1.50 hours	46 98

XLIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SEAL OF BILITERACY PROFESSIONAL DEVELOPMENT FEBRUARY 3, 2021, \$31.32 PER HOUR, 1 HOUR FOR A TOTAL OF \$31.32 EACH: (10-2210-0000-1341-564-1)

Boltz, Caryn Reichert, Brendan Grendze, Carmen Sorrells, Irena Huffman, Anna Wonneberger, Olga Ippach, Ingrid

XLV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION GERMAN CURRICULUM PLANNING THIRD QUARTER FEBRUARY 5, 2021, \$31.32 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$46.98 EACH: (10-2210-0000-1341-564-1)

Huffman, Anna Wonneberger, Olga Ippach, Ingrid

XLVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES 2020-2021 MEDICAID BILLING ACTIVITIES SEPTEMBER 21, 2020 THROUGH JANUARY 31, 2021, FOR RATE SPECIFIED: (10-2210-6220-1165-000-0)

Blakley, Jennifer 3.25 hours \$33.92 per hour \$110.24 Sturdivant, Carla 3.75 hours \$34.70 per hour \$130.13

XLVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR TITLE I APTT ACTIVITIES FEBRUARY 22, 2021, \$23.36 PER HOUR, .75 HOURS FOR A TOTAL OF \$17.52: (10-2210-0000-1341-531-1)

Herbert, Merilyn